
MEEG 3013  Quiz #7.m19.102 
 

For the state of stress shown, 
draw and use Mohr’s circle to 
determine the range of values 
of θ for which the magnitude 
of the normal stress xσ ′  is 
equal to or less than 20 ksi.  
---------------------------------------------------------------------------------------------------------------------------------------------- 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

( 18,  12),   (0,  12)X Y− −              
2 2(12) (9) 15R = + =  
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9cos2 15Pθ =      2 53.13Pθ = °           
11cos2 15β =      2 42.83β = °    

(360 2 2 ) 2 (2 2 )P Pθ β θ θ β− ° − − ≤ ≤ −  
 

132.0 5.15θ− ° ≤ ≤ °    


